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THIRD SEMESTER (SCHEME-2012)
MODERN OFFICE MANAGEMENT
COSTACCOUNTS

Time : Three Hours Maximum Marks : 100

Note : i) Attempt One question from each unit.
T 3PS W U@ N9 Bl SR SIforg|
ii) All Questions carry equal marks.
wft meAl & 3 FHH B

iii) In case of any doubt or dispute, the English
version question should be treated as final.
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UNIT -1/3%13 -1

1. "Costaccounts are key to economy in manufacture”.
Discuss. 20
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Explain the following with examples any two:
a) Fixed cost

b) Variable cost

c) Semi-variable cost
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UNIT-II/3&18 - 11

. Define cost sheet. Differentiate between cost sheet

and statement of cost. ' 20
ArId o3 o gRifda Hifv ara fRaver @ arma
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A factory produced 100 units each of commodities
'X'and "Y'. The cost of production was:
X(Rs.) Y(Rs.)

Direct material 28,000 20,000
Direct wages 16,000 10,000
Direct charge 3,000 2,000
Over head expenses are:

1) Factory Rs.13,000

11) Office Rs.7360

If a profit of 25% on sales is to be realised. What
woufd be the selling price G%cgch article?
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X(Rs.) Y(Rs.)
oAy |t 28,000 20,000
Ty T 16,000 10,000
TeaY Y 3,000 2,000

ey &

i) BRI ®. 13,000

ii) oEfeag ®. 7360
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UNIT - 111 /3572 - III

‘What is Contract account? Give a format of Contract
account. 20
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Following amounts have been spent on a contract still
unfinished on 31st December 2014,

Materials Rs.80,000
Wages Rs.70,000
Direct Charges Rs.50,000
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Rs.2,00,000 have been received from the contractor
being 80% of the work certified. Calculate profit to
be credited to profit and loss account uncertified work
in progress being Rs.10,000. Total value of the
contract is Rs.4,00,000.

3] xR, 2014 | @ qof 3% w Fe=faRad =
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eIt Rs.80,000
ot Rs.70,000
PRI R Rs.50,000
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UNIT-IV/3a18 -1V

. How would you treat the following 1n cost accounts

any two: 20

~a) Abnormal wastage

b) Abnormal effectiveness

¢) Normal wastage

tos”
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1000 units of raw material were introduced in a
process at a cost of Rs.4000. 10% wastage is allowed,
each unit of wastage realises Rs.2.50. The actual
production was 850 units with an abnormal wastage
of 50 units. The expenses being as follows:

Direct wages Rs.6500
Indirect expenses Rs.3250
Prepare the process account to using out the effect
of wastage
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UNIT-V/3&18 -V

. Why is it necessary to reconcile cost and financial

accounts? Point out the cause of their difference.
20
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Prepare an imaginary reconciliation statement:
a) If profit as per cost accounts is taken as lease

b) If profit as per financial accounts is taken as
lease.
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